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NB Marks are awarded according to the workings

SECTION A 40 MARKS answer ALL the questions in this section
1. Find the equation of the line  which passes through the  points P (3,7) and Q (6,1) and express it in the form;
     a) Y= mx + c                                                                                                   (3mks)
    b)  [image: image5.png]
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x

 =1                                                                                                  (2mks)
2. The equation of line b is -3/5x + 3y = 6. Find the:
(a) 
Gradient of the line 







(2mks)
(b) The equation of a line that passes through point (1, 2) and it is perpendicular to line b. (3mks)
                 Solve the equation.

       (3mks)
 x + 1        2x + 1    = 9
 


    2                3
3. Use the substitution method to solve for x and y in the simultaneous equations below.(3mks)
         [image: image3.wmf]4x - 3y = 1


            X – 4 = 2y                                                                                                                                                                     

4. Without using logarithm tables or a calculator, evaluate, giving the answer in decimal form. (3mks)
 
  0.015 + 0. 45  (1.5
              4.9 x O.2 + 0.07                   



    
                                                                                                                    Vv.                                                         5.Use a ruler and compasses only for all constructions in this question.
(a)
Construct triangle ABC in which BC = 6.5 cm, and angle ABC=450 and angle ACB=600,











(3 marks)
(b)
Measure AB and AC








(2 marks)
(c)
Construct a circle that touches the vertices of the triangle.     


(4 marks)
(d)
Measure the radius of this circle.






(1 mark)
6.Solve        45x  ÷  (23x)2   =  256                                                                                                 (4mks 
7. A tree is 6m high. In photographing it, a camera forms an inverted image 1.5 cm high on the film. The film is developed to form a picture in which the tree is 6cm high. Calculate the scale factor of the two separate stages.                                                                                                                                                           (4mks)

8.Find the area of regular hexagon of side 4.8cm


                        (3mks)
SECTION B (30mks) answer ONLY 3 questions in this section

 9.Four points A, B, C and D are situated on a horizontal plane such that B is 200m on a bearing of 0650 from A.  C is 280m on bearing of 1200 from B and D is 160m due west of C.

(a)  Draw a rough sketch showing the position of the four points.



(1 mark)
(b)
Using a scale 1cm rep 40m, draw an accurate scale drawing representing the position of A, B, C and D.










(5 marks)
(c)
By measurement use your scale drawing to find the distance and bearing of;


(i) 
D from A






(2 marks)


(ii)
B from D






(2 marks)
10.From a balcony of a house, an observer notices that the angle of depression to the foot of a multi-storey building is 30o. The angle of elevation of the same building from the balcony is observed to be 500. If the buildings are 50m a part, 
a) Draw a sketch to represent the above statement.                                                                                 (2mks)
b) Using the suitable trigonometric ratio, determine to the nearest meters the height of the building. (4 marks)
c) Without using a mathematical table, use an equilateral triangle to determine;
Tan 600                                                                                                                                           (2mks)
Cos 300                                                                                                                                          (1mk)
Sin 300                                                                                                                                          (1mk)
.

11. The figure below shows a frustum of a rectangular based pyramid. The height of the frustum is 12cm.
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4cm



12cm
Draw the net of the solid







(4mks)
Find the area of the net.                                                                                  (6mks)
12.The diagram below shows two cicles, centre A and B with intersect at points P and Q .

Angle PAQ =700, angle PBQ =400 and PA=AQ=8cm
[image: image4.png]




Use the diagram to calculate

(a)
PQ to 


2dec places






(2mks)

(b)
PB to


2 dec places






(2mks)

(c)
Area of minor segment circle center 
A





(2mks)

(d)
Area of shaded region
4mks

13. 
Using a ruler and a pair of compasses only;

     
 (a) Construct triangle PQR in which PQ = 5cm, QR = 8cm and angle QPR = 45o

(4mks)

      
(b) Measure line PR and angle PQR 







(2mks)

      
(c) i) Construct a perpendicular from Q to meet line PR at S and measure QS

(2mks)

                 ii) Hence, find the area of triangle PQR






(2mks)
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